
BY

W U N D E R L I C
H

M6x30 M5x25

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de 1

Spiegelklemme
BMW 

Bestellnummer 21211-102

Mirror Clamp
 BMW 

Part Number 21211-102

Morsetto Specchio
 BMW

Codice 21211-102

Miroir Pince 
BMW

Pièce 21211-102

Abrazadera del Espejo
BMW 

Pieza 21211-102

A

News, Shop, Downloads + Informationen:
www.wunderlich.de

Kataloganforderung + Downloads:
www.wunderlich.de/Katalog

Catalogue download (English):
www.wunderlich.de/en

General information, dealers and news:
www.wunderlich.de/en

Download catalogo (italiano):
www.wunderlich.de/en

Informazioni generali, dealer e Novità:
http://www.wunderlich.de/en

Télécharger les catalogues (francais):
www.wunderlich.de/en

Informations générales et distributeurs:
www.wunderlich.de/en

Descargar los catálogos (español):
www.wunderlich.de/en

Informaciones generales, tiendas y noticias:
www.wunderlich.de/en

B C



BY

W U N D E R L I C
H

M6x30

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de 2

8 Nm/6ft.-Ib  

Max 18 Nm / 14ft.-lb

M5x25

F

ED

Optional
Bitte beachten Sie das der Bolzen 
des Spiegels nicht bis auf den 
Grund eingeschraubt werden 
darf. 

Please note that the pins of the 
mirror must not be screwed to 
the ground .


